EARAZROREIERT — 2 N—XBISY —F 20145FE6827H (£) sE&ZHE4H

mﬂﬁ BO# B9 ¥5%—# (w8 | mEmml - |5 ) oom 8
[AE£] 1 & :145,000 "  2%&:26,000”  3#%&:11,000M” / 4%&:7,00H ~ 5%&%:0MH
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
BEX 143. -1-1- . — ABED (BEE)
1 > PIEEEER NS R i R SO B e 2 e [
AR w1 =9 BE-XFTF7 Fy P EF T — L
= . 4t 4 | FEEBE 1:44.2 4-4-4-4 | 38.8| — 1 472 | BHRER (BEHE)
2ffs|7VARIT b 56.0 (1 1/2) (y | B Tr—ztEvar
Ry KYYYZXIZX B:O—HZR J—H T — L
—: NUEFT : 00— - AOBFH (BEHE)
N R # o | JuEn I el A I R P =
Z:7HAFALANE BXAAY T~ FH F#A
8 4 _E ALt : -3-3- — SiEEZ (BHE)
4|11 72a-Y7M12R o4 | LS 1(;11:;5 3-3-3-3 | 39.4 3 :+512) s
L:v<v=>+t7744L B:TJO-LXT(T7 BH B
o # 5 | RHRMKER 1:46.7 5-5-5-6 | 40.9| — 6 477 Woh— (BEE)
5/5|5 TAININHHY X 54’_”5 (24 4) 42) () k—24T
R:7H4FALNEK B:THY z—/N— LEHS
= _ 4 4 | DNEERIE 1:46.8 7-5-5-5 | 41.0| — 7 447 | RBET (BEE)
EH 3| 2SR =Y el (7€) ) | @ Tr-ztEvar
LT v TRy b B TAIX MR- J—HrTr—LA
= 4 5 | LB 1:46.8 6-5-5-7 | 41.0| — 5 48 |BETB—% (BEHE)
7|8|8|FTTT I 54.0 (757) o | BT
A bk—L BiRYTAH T — FH)Tr—1
S ars,= 8 | KMEHE — - — — — — | HFLiE- (BEE)
%[ 7| 7 2 A v s 56.0 - (B3H) (=) STIEFA
R:aAv B—A>F—7 B:2h/NL)—F [l e]
® I —F—@EBIERL
13=zr= 2,4,1,3,5,8,6
Aol=5r= 2,4,1,3,(5,6,8)
33—+— |[2,4,1,3,(5,6,8)
41—+ — 2,4,1,3,6,5,8
[ RN
B OB 2 370M 714K 2-3 180H B E 2-3 390M &R 2-3-4 480M
8 B 2 1809 2-4 350 B H 2=8) 1,150/ K31 2-3-4 2,950/
3 130M4 3-4 120H

ABICOVWTRDTEEERROODE. TR LIV,



